1. Consider the integral/ sin(z) dx.
0
Write Loy and Rsg using sigma notation.
2. Find the definite integral approximated by the left sum
49 N2
3 31
Lsy = — -
"7 50 ; (50)

What is the value of the integral?
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Recap for Today

e Riemann sums can be used to find a numeric

approximation for an integral.

This is especially useful if we cannot find an

antiderivative.

e The more subdivisions we take in the approximating

sum, the more accurate the approximation will be.

September 13, 1999 T. Ratliff, Math 104 Page 2



